SafelLine 5

SafelLine
EVAC

ORDERING INFORMATION

(“
LIFT EVACUATION
INTERCOM

LI R Y

Floor Station
*EVAC-FS0201

.

Entrance Station
*EVAC-ES0101



SafelLine 5

System overview

LMS - Lift monitoring system (required)

Power supply and LMS unit. Can be used to send an
LMS LMS message through a Safeline telephone. LMS

messages are triggered by events defined in the

entrance unit.

Car station (recommended)
Car station Microphone and speaker unit for lift car installation.
There can only be one car unit in the system.

Floor station (required)

Connection board Landing unit to be fitted on each point of evacuation,
normally one per floor. Maximum 99 floor stations
can be used in an EVAC system. Minimum 1 unit is
required. Button, illuminated when system is active.

Floor station

Entrance station (required)

The required master unit of the system. All commands

and logic is handled by the entrance unit. Max two
Connection board entry stations can be connected per system.

o 3
eceoccc o oo oyl

Connection board (optional)

Connection board used to easily retrieve and
share supply power and bus signal for entrance,
car and floor stations through an RJ45. Speeds up
installation and minimizes cabling needed.

Entrance station

Cabling

Cables for connecting floor stations in serial in
the lift shaft are NOT included in the package.
Each connection board however comes with a 5m
open-ended cable and 2 contacts for simple wiring
between voice stations and the lift shaft.

Connection board

EVAC Ordering Information v1.08 EN



SafelLine 5

SafeLine EVAC ordering information

EVAC - Standard system, English

Entrance station Article no. Price Piece(s)
EVAC Entrance station 01 *EVAC-ES0101
- engraved, English text

b, ..'@‘

Car station Article no. Price Piece(s)
EVAC Car station COP *EVAC-CS0000
Floor station Article no. Price Piece(s)
EVAC Floor station *EVAC-FS0201
- with button, flush mounted, N

vandal-proof, English text it
LMS Article no. Price Piece(s)
EVAC PSU & LMS
Connection board Article no. Price Piece(s)
EVAC Connection Board *EVAC-CB

EVAC Ordering Information v1.08 EN



SafeLine EVAC ordering information

EVAC - Complete article list

SafelLine 5

Entrance station Article no. Notes Price Piece(s)
EVAC Entrance station *EVAC-ES0000 Entry station main unit include:
- with button, no front/key, (; Keyboard, display & PTT button.
- Transparent lens.
no back cover ; ; .
+ Mounting plate, stainless steel.
¥ » Memory card microSD for
o30 | logging, 4 GB.
o - Flat cable RJ45, 5m.

EVAC Entrance station 01
- engraved, English text

*EVAC-ES0101

Entrance station main unit include:

Keyboard, display & PTT button.
+ Front plate engraved w. fire-logo
+ Keyswitch, triangular.
- Back cover.
+ Memory card microSD for

mﬂ logging, 4 GB.
@ + Flat cable RJ45, 5m.
EVAC Entrance station 02-04 *EVAC-ES0201 Entrance station main unit include:
- engraved, no fire-logo *EVAC-ES0301 : Freoynt%"?r? display g‘ PTbeUtltO”
*EVAC-ESO40T plate engraved, no fire-logo.

0201
- English text

0301
- German text

0401

0201 0301 0401

- Keyswitch, triangular.

- Back cover.

+ Memory card microSD for
logging, 4 GB.

- Flat cable RJ45, 5m.

0101
- English text: “Lift Evacuation
Intercom”, “Talk"

0301
* German text: “Sprechanlage

. i fur die aufzugsevakuierung”,
Swedish text i V? £, “Sprechen”
h Lo .,./ 4l 0401
Swedish text: “Brandinterkom
for evakuering”, “Tala"
EVAC ESO1 Front plate *EVAC-PLATE-ESO1 | - Stainless steel.

- engraved, English text

- Symbols and text engraved.
+ English text.

[ﬂ% - With fire-logo
ﬁq
iy
EVAC ESO2 Front plate *EVAC-PLATE-ES02 | - Stainless steel.
- engraved, no fire-logo - Symbols and text engraved.
English text + English text.
- No fire-logo
"
EVAC ES Back cover *EVAC- BACK ESO1 - Steel Alu/Zink

- Used to protect circuit board

when flush mounted.

+ Cannot be used togther with a

surface mount frame.

EVAC Ordering Information v1.08 EN




Safeline

Entrance station Article no. Notes Price Piece(s)
EVAC ES Key switch, firemans *EVAC-KEY-ESO1 - Firemans key switch
triangular + Two positions: 0° and 90°
//,..\\ + Key is not included
Qt = - Conforms with BSEN60947-3, IEC
s o 60947-3 and VDE 0660 Part 107
- N/O
EVAC ES Key switch *EVAC-KEY-ESO3 + Firemans key switch
+ Two positions: 0° and 90°
A * Key is not included
Q = + Conforms with BSEN60947-3, IEC
s 4 60947-3 and VDE 0660 Part 107
- N/0 and N/C
EVAC ES Frame *EVAC-FRAME-ESO1 | - Stainless steel.
[ ] - Used for surface mount
\ installation.
| - Wall mount screws, 4 pcs.
- Cannot be used together with
J a back cover.
|
Car station Article no. Notes Price Piece(s)
EVAC Car station COP *EVAC-CS0000 - Car station with mounting tape
EVAC Car station SM *EVAC-CS0100 + Car station, surface mounted
Floor station Article no. Notes Price Piece(s)
EVAC Floor station *EVAC-FS0101 - Floor station unit.
- with button, flush mounted *EVAC-FS0301 , frontplate, engraved 1 s
*EVAC-FS0401 ' '

0101
- English text

0301
- German text

0101 0301 0401

¢ lid T
urTemEuTen |5
LR MR TR

- Back cover.
- Wall mount screws, 2pcs.

0101
- English text: “Lift Evacuation
Intercom”

0301
- German text: “Sprechanlage
fur die aufzugsevakuierung”

0401 | . |

- Cwedi &, & ﬁ 0401

Swedish text jk . - Swedish text: “Brandinterkom
for evakuering”

EVAC Floor station 02 *EVAC-FS0201 + Floor station unit.

- with button, flush mounted,
vandal-proof, English text

LFTEWCLATEN
INTERCCM

- Front plate, engraved, English text
+ Push-to-talk button, illuminated.
- Back cover.

+ Wall mount screws, 2pcs.

- Vandal-proof

EVAC Ordering Information v1.08 EN

L1



SafelLine 5

Floor station Article no. Notes Price Piece(s)
EVAC Floor station 00 *EVAC-FS0001 + Floor station unit.
- with button, no front e - No front plate.
s + Push-to-talk button, illuminated.
Lige ‘ + Back cover.
0 + Adhesive tape mount.
EVAC FSO1 Front plate *EVAC-PLATE-FSO1 | - Stainless steel.
- engraved, English text R - Engraved, English text.
i « Assembling components included.
e
EVAC FSO2 Front plate *EVAC-PLATE-FS02 | - Stainless steel.
- engraved, vandal-proof, I - Engraved, English text.
English text s « Assembling components included.
| + Vandal-proof
EVAC FS Frame *EVAC-FRAME-FSO1 | - Stainless steel.
- stainless steel - | + Used for surface mount
i installation.
- Front plate screws M4, 2 pcs.
+ Wall mount screws, 4 pcs.
EVAC FS Frame *EVAC-FRAME-FS02 | - Stainless steel.
- stainless steel, vandal-proof I » Used for surface mount
N installation.
+ Front plate screws M4, 2 pcs.
- Wall mount screws, 4 pcs.
Euih » Vandal-proof
LMS Article no. Notes Price Piece(s)
EVAC PSU & LMS *EVAC-LMS - Cable to SL6, 2m.
e W - Wall mount screws, 2pcs.
Connection board Article no. Notes Price Piece(s)
EVAC Connection Board *EVAC-CB » RJ45 connection board for
565 EVAC units.
o + Cable 5m, open end.
w— - RJ 45 plugs, 2 pcs
Asseccories Article no. Notes Price Piece(s)
Modular plug crimper *CABLE-MODCRIMP | « Use to attach RJ45 plugs
_—— to flat cables for use with
connection board.
Micro-SD card EVAC, *EVAC-SD-EN + Preloaded English voice
4GB, English messages.

EVAC Ordering Information v1.08 EN



SafelLine 5

Dimensional sketch, EVAC-PLATE-ESO1

2x B4
B35 2+2x M3x6
’ < s &
Y LIFT EVAGUATION
LIT&A% N — R 0 INTERCOM 1
@ 65 Lg@ 2x M3xi2
. / 2+2x M4x6
‘ +
? |: 70447 X X
34x B2 201
40,2 = f—‘\ .
63.2 366 56 > 4x M3x8
| 15 e : Sor
i O
000
-8x @10,5 ®)
d o o
%
ol 1O
v 132,9
d o TALK
@32 1 11 @
k24
17 50
110 — 2,5 Ml 56—
——70—>
Dimensional sketch, EVAC-PLATE-FS02
2 x @4
O/ O i
ag [N LIFT EVACUATION
<20 l INTERGOM
JON 20 o 1 E
| s e 6o + | o
10 f 40
176 34{7 ’ J;H ’ °
@32
74,7 /
OB @
30,9
A |
55,3
O O
0
90 2,5 —tle—

EVAC Ordering Information v1.08 EN



SafelLine 5

Your partner in lift safety

SafeLine Headquarters

Antennvdgen 10 - 135 48 Tyreso - Sweden
Tel.: +46 (0)8 447 79 32 - info@safeline.se
Support: +46 (0)8 448 73 90

SafeLine Denmark

Erhvervsvej 19 - 2600 Glostrup - Denmark
Tel.: +45 44 9132 72 - info-dk@safeline.se

SafeLine Norway

Solbrdveien 49 - 1383 Asker - Norway
Tel.: +47 941414 49 - post@safeline.no

SafeLine Europe

Industrieterrein 1-8 - 3290 Diest - Belgium
Tel.: +32 (0)13 664 662 - info@safeline.eu
Support: +32 (0)4 85 89 08 95

SafeLine Deutschland GmbH

Kurzgewannstrafe 3 - D-68526 Ladenburg - Germany
Tel.: +49 (0) 6203 - 840 60 03 - sld@safeline.eu

SafeLine Elevator Parts UK

3 Eveqgate Park Barn - Station Road - Smeeth - Ashford - Kent - TN25 6SX - United Kingdom
Tel.. +44 (0)1303 813414 - info@safeline.uk.com

www.safeline-group.com



